BALDORRELIANCENFR

Product Information Packet

MT-4535-BTYCN

DC servo mtr, 4.52NM 2000 rpm with tach.

Copyright © All product information within this document is subject to ABB Motors and Mechanical Inc. copyright © protection, unless otherwise noted.



BALDOR-RELIANCEPFP

Product Information Packet: MT-4535-BTYCN - DC servo mtr, 4.52NM 2000 rpm with tach.

Part Detail

Revision: T Status: PRD/A Change #: Proprietary: No
Type: DC Prod. Type: 5536P Elec. Spec: 55WGZ109 CD Diagram: CD0194
Enclosure: TENV Mfg Plant: Mech. Spec: Layout: 55LYP537
Frame: Mounting: Poles: 00 Created Date:

Base: Rotation: Insulation: F Eff. Date: 01-10-2017
Field Type: Literature: Elec. Diagram: Replaced By:

Specs

Enclosure: TENV

Motor Type: 5536P

Nameplate Speed: 2500

Nameplate Voltage: 180

Agency Approvals: UR

Connection Diagram: CD0194

Dimensional Drawing Numbers: 55LYP537

Duty Rating: CONT

Feedback Signal: NONE

Frame Material: Steel

Insulation Class: F

Motor Lead Quantity/Wire Size: 2 @ 16 AWG

Mounting Arrangement: 0.000

Motor Standards: NEMA

Page 2 of 9




BAIL.DOR*RELIANCEFRF Product Information Packet: MT-4535-BTYCN - DC servo mtr, 4.52NM 2000 rpm with tach.

Nameplate NPO771

CAT.NO.

BLANK

SPEC.

MFG.NO.

POWER

TORQ STALL/CONT

MAX SPEED/RPM

MAX V-DC BUS

VOLT CONST KE V/KRPM
CUR CONT STALL/A RMS
PEAK CUR/A RMS

TACHOMETER
ENCODER
APRV-UL

MT-4535-BTYCN

55P5377109G1

40 LI

2500

180

63

8.35

35.7

INSUL CL F 25C AMB

9.5V

Page 3 of 9




BALDOR-RELIANCEPFP

Product Information Packet: MT-4535-BTYCN - DC servo mtr, 4.52NM 2000 rpm with tach.

Parts List

Part Number Description Quantity
AA006660 AA 55P5377109G1 1.000 EA
INSKIT20126 INSUL KIT,55AL4210,CL F,PDR COAT,4.5 STK 1.000 EA
BP5089AP01 BRUSH MATL E41 HELWIG FOR 4500 NEW DESIG 4.000 EA
55PE5000A39 END CAP DR FC ASSY 4500-Al1 - NEW DESIGN 1.000 EA
HW1003A10 WASHER, #10 EX TH LK, ZN X 4.000 EA
RM1020A06 0-RING, -007 BUNA-N, .145 ID X .070 CS 4.000 EA
HW5109A09 WASHER, WAVE SPRING FOR 35MM BORE SMALLE 1.000 EA
54FE5000A84 END CAP ROCKER ASSY,20S CONN,TACH MTG 1.000 EA
X2A001Z006 TACH TG-200 9.5V .500 BORE 8 IN LEADS 1.000 EA
HW1003A38 WASHER, 3/8 EX TH LK, ZN 1.000 EA
XY3824A13 NUT 3/8-24 HEX JAM NUT 1.000 EA
HA6400A01 COVER MACH MT-4500-1P65 1.000 EA
RM1020A11 O-RING, -042 BUNA-N, 3.239 ID X .070 CS 1.000 EA
84YNO0040J012 SCREW SOCKET HD M4 X 0.7 X 12MM 4.000 EA
HW1001A08 WASHER, #8 SPLT LK, ZN 4.000 EA
55RK5000 ROCKERARM ASSY FOR 4500 BTSM 63 BAR COMM 1.000 EA
84XN0440J10 #4-40 X .62 SOCK HD CAP, BL OX 4.000 EA
HW1001A04 WASHER, #4 SPLT LK ZINC 4.000 EA
BP5088 BRUSH SPRING CLIP ASSY (BRA91) 4000/4500 4.000 EA
BP4536 BRUSH CAP 4000/4500 LEWIS BANKS# BRA91C 4.000 EA
HW2512D90 SHAFT KEY CL 5 MM X 5 MM X 30.5 MM 1.000 EA
MG1025G05 WILKOFAST, 789.227, MED. GRAY CHAR. MET. 0.005 GA
ME4000 .375-.75" DIA.#SW-04 WOVEN SHAFT PROTECT 0.208 FT
LB1212 LABEL MOTOR GROUND 4500 1.000 EA

Page 4 of 9




BALDOR-RELIANCEPFP

Product Information Packet: MT-4535-BTYCN - DC servo mtr, 4.52NM 2000 rpm with tach.

Parts List (continued)

Part Number Description Quantity
55SB4005G01 ASM,STATOR 4535 6.324 1.000 EA
HA3100S37 THRU BOLT HEX HEAD 10-32 X 7.12 SS 4.000 EA
NPO771 NP,SV STD AD NONE V UL 1.000 EA
LB5037 DC SERVO MOTOR INSTALLATION MAINT INST 1.000 EA
55PA1000 PACKAGING ASSY SERVO 1.000 EA
PK3100 POLY-PROPYLENE END CAPS, SERVOS 1.000 EA
MG1500Y09 WILKOFAST PRIMER, 701.09, BEIGE #1001 0.010 GA
MG2000A14 RUST VETO 342 RUST INHIBITOR 0.001 GA
HAG6428 COVER MOLD TG-200 TACH LESUEUR/BERMO 1.000 EA

Page 5 of 9




BAIL.DOR*RELIANCEFRF Product Information Packet: MT-4535-BTYCN - DC servo mtr, 4.52NM 2000 rpm with tach.

55LYP537
A 1.69 [43 |—
] 118 [30 ] [ T.005 [127][A|
MIL SPEC CONNECTOR —2.96 [75 ]
20 SERIES 9 PIN 12 [3 ] —}—
1.36 [35 ] $2.953 [875 ]
——— | 5X5X32MM
E ! KEYWAY
—] .29 [7]
9 I / ,
Al I
— - - T - ?‘\— M - —
250 NAMEPLATE
1249
E ;/ \\ B
\ (
6302 [ 16.007
6298 | 15.997 |-
4X M8 X 1.25
L 4.00 [102 ] [ #].002 [.051] .50[12.7] DP
‘ [@]g016 [410A]
MODEL  STACK A
4515 12 8.00 [203.3] 53022 [gg:ggo}_
4525 24 9.50 [241.4]
4535 36 11.00 [279.5] [ #1.0031 [.079]]A]
4545 48 12.50 [317.6]
4555 60 14.00 [355.7]
NOTE:

DIMENSIONS IN [ ] ARE MILLIMETERS

LESdATSS

CUSTOMER IS RESPONSIBLE FOR DETERMINING THAT BALDOR'S PRODUCT WILL PERFORM SUITABLY IN THE INTENDED APPLICATION.
REV. DESC: SHOW GROUND SCREW AND LABEL ON LAYQUT.

BAILDOR

REV. LTR: D |VERSION: 02 TDR: 000000598537
FILE: \CKA\00016\668 REVISED: 01:19:00 06,/08,/2011 LY,MTE —45*—*T*C* W/SHAFT FOR ENCODER KIT
MTL: — |BY: CKMICRQO SH 1 of 1

Page 6 of 9




BAIL.DOR*RELIANCEFRF Product Information Packet: MT-4535-BTYCN - DC servo mtr, 4.52NM 2000 rpm with tach.

CD0961

WIRING SPECIFICATIONS
CONNECTOR DIAGRAM

PIN FUNCTION WIRE COLOR SOLDER SIDE
A TACH (+) BLACK

B TACH (-) RED

C THERMO SWITCH YELLOW

D THERMO SWITCH YELLOW

E OPEN -

F OPEN -

G TACH SHIELD

H MOTOR (+) RED

[ MOTOR (-) BLACK

BALDOR P/N: WD1441A05
VENDOR P/N: MS3102E20—16P

NOTES:
1. C.W. ROTATION
2. IF LESS TACHOMETER, OMIT TACH CONNECTIONS.

196000

REV. DESC: CHG DESC/CORRECT PART NUMBERS
REV. LTR: J [BY: WOB [REVISED: 11:53:44 03/26/2004| TDR: 327444 BALDOR ELECTRIC Co.
196000 E#E EKA00024556 REF: CD09%1 CD,MT  20S 9P CW W/T'STAT

Page 7 of 9



BAIL.DOR*RELIANCEFRF Product Information Packet: MT-4535-BTYCN - DC servo mtr, 4.52NM 2000 rpm with tach.

MOTOR
+A1 (REDD
THERMOSTAT
(WHEN REQUIRED)
(11
)
-A2
(BLACK)D J J
NOTES:

CD0O194

TACHOMETER

+Al (RED>

-A2 (BLACK) ———]

1. CCw ROTATION AS SHOWN FACING COMMUTATOR END. TO REVERSE MOTOR ROTATION

OR TACHOMETER OUTPUT POLARITY INTERCHANGE LEADS AICRED) & A2¢(BLACKD

2. LEAD COLORS FOR REFERENCE ONLY & NOT SPECIFIED BY THIS DRAWING.

LEAD COLORS SPECIFIED BY LAYOUT DRAWING & BILL OF MATERIAL ONLY.

MATL: -

REV: | E | ADDED NOTE "LEAD COLORS FOR REFERENCE ONLY &..

BALDOR ELECTRIC Co.

61000

SCALE: - BY: CK

REVISED: 07/28/95

FILE:  AAA00004503

TDR: 0078737

CD TYPE P DC PERMANENT MAGNET MOTORS AND TACHOMETERS

61000

Page 8 of 9




